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1.  Which of the following options is correct?

In theory and should be equal, but in practice they typically differ
because they are constructed in different approaches.

@
(1)
(iii)

National Income and Net National Product.
Real GDP and Nominal GDP.
Consumer price Index and Producer Price Index.

(&) Only (i)

(B) Only (i) and (i)

(C) Only (i) and (ii)

(D) All of the above ((i), (ii) and (iii))

2. Which among the following are features of the Fifth Five - year plan?
(1) The final draft of the plan was prepared by D.P. Dhar.
(11) It 1is primarily focused on 'Garibi Hatao'.
(i11) The target growth rate was 4.4% while the actual growth rate was 4.8%.
(iv) Emphasised on employment in contrast to Nehru model.
(A) Only (1), (11) and (i11) (B) Only (1), (i11) and (iv)
(C) Only (1) and (i1) (D) Only (1) and (iv)
3.  Which of the following are key objectives of NITI Aayog?
(1) Formulate policies and strategies to enhance the economic development of the country.
(11) Directly oversee the allocation of funds for state-level development projects.
(i11) Promote cooperative federalism through partnership between the centre and states.
(iv) Evaluate and replace state governments based on their economic performance.
(A) Only (1) and (iv)
(B) Only (1) and (1i1)
(C) Only (1), (i1) and (iii)
(D) All of the above ((i), (i1), (ii1) and (iv))
4. The MSP for Paddy and Wheat has grown from ¥ 850 and ¥ 1080 per quintal in 2008-09 to
and per quintal in 2023-24.
(A) 3,100 and 3,225 (B) 2,700 and 2,725
(C) 2,300 and 2,425 (D) 3,400 and 3,525
A -2-
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B BYNS esed,NYO D IOATING?

AT033Y ) JeTmNTWed, BSTT  SITHAY P TN
DI NDBS 93083 NP, DT, AFTISMHO AheSTaNTS.
@) oao%éyeoso B8med DI AZ,Y Uac%\geojo S
(i) &3 GDP 3 medadres) GDP.
(iil) MBS IS Teed 08 DI BVB BB 23S Jeed03.
@) () @3, B) () B (i) &3,
(C) (i) DR (iii) S, D)  DedI 2w (1), (ii) D) (iii)

2oe BodDded alpensod &35 M arRDD?

(i)  odeeaod wodadh 3TEI B.&. FOF ATSBITYT.

(i) QD D9BDBDN O Boope et 3eoReB0T.

(iii) IYSedriod MO BT 4.4% SNFT, ARTB YTedriod BT 4.8% e3N.
(iv) Szde 307 &53808wmeN eVTieend, waE) AedwaNs.

@A) @, (1) D (iii) I3,
B) (@), (iii) DR (iv) 03,
© @) & (i) &3
D) @) @3 ((v) 393

ed e305eeNT T HLTEBNY AreHY?

O D33 BB NSRRI, BT LMW DA SoFRHD, ARILID.

(i) Oy DT T 03eeRINPTT IBNY BoWSAY, SedezeN ehHed 23908 SyerbIHTD.

(i) BeoB) DA TeRNY SWAS @oDOBAD Bwewd JHB0 20ER,LBY HVSeIDIHD.

@1v) Ooy c—-’omsdrﬁ?@( OJYNY BOFS SoabrZDI0D BTTT DeS dfaoédmad FRDID DR

WTTIODDRYTD.
A) 1) DR (iv) a3, B) (@) DR (iii) o3,
©) @), (1) DS (iii) I3, D) DT 23 (1), (i), (iil) D) (iv)

P2 DI rieedod MSP 2008-09 39 x3y3 o390t 850 ) 1080 dod 2023-24 TO J0e390°T

DA R V03,
A) 3,100 D) 3,225 (B) 2,700 D) 2,725
(C) 2,300 D) 2,425 (D) 3,400 D) 3,525
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5.

Match the following schemes/policies with their objectives:

Column A Column B
(1) Agricultural Credit Scheme (a) To provide insurance cover to
farmers against losses due to
natural calamities
(1) Food Corporation of India (FCI) (b) To ensure the availability of credit
to farmers for agricultural inputs
(ii1) National Mission on Sustainable (¢) To procure, store and distribute food
Agriculture (NMSA) grains to maintain food security
(iv) Pradhan Mantri Krishi Sinchayee (d) To enhance irrigation facilities for
Yojana (PMKSY) agriculture and promote efficient
water use
@A) ®-0), ()-(c), (i1)-(d), (iv)-(a) B)  ®-(0), a)-(b), (111)-(d), (iv)-(a)
(©)  ®-(b), (1)-(d), (111)-(c), (iv)-(a) D)  ®-(a), (1)-(b), (i11)-(d), (v)-(c)
Which of the following statements accurately represent the characteristics of PMKSY
Scheme?
(1) The highest number of beneficiaries for the year 2024-25 under the watershed

component of PMKSY are Uttar Pradesh followed by Jharkhand.

(i1) The scheme primarily focuses on providing subsidies for large-scale irrigation projects.
(111) The scheme was launched on July 1, 2015.
(iv) The scheme is fully funded by the Central Government.

(A) (1) and (i11) only (B) (1) and (iv) only

(C) (), (111) and (iv) only (D) All of the above ((i), (i1), (ii1)) and (iv))
Assertion (A) The manufacturing sector achieved an average annual growth rate of

5.2% in the last decade and had a gross value added of 14.3% in FY 23.

Reason (R) : According to the Economic survey, the manufacturing sector remained at

the forefront of the Indian Industrial sector, Indicating significant
backward and forward linkages.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

D) (A)is false, but (R) is true
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81 BYNS aleeaSINw/ednvxD), oYy svgednisio odrt Beodd:

@)

(i)

(111)

(iv)

BoF @ BoF Q)
B)A TFov Adeeds (@) I,;3Ne3 & @0e3MPoT Hvoesrha
SaY DG 3,30rT Ire TZEobIY
BN
We33ead 83me3 AN (FCI) (b) 3 2¥BOFRVreN 3,301 Te0 3

I BoDRD, BIBEIZRY
DT Zydob Tad ead @* (NMSA) (©) &850 IFBobR) FowmeBRRYL) 8HT
PORNTRY, DorjRe, Borbey D)

Q30T
BTN D08, By 03I 03eeRd (d)  BaArt Qevemd FPUYNTRY BT
(PMKSY) DA BOFITNTO O YD,
PUBLRTED

@) O-b), ()-(¢), GiiD)-(d), (v)-(a) B)  ()-(0), (ii)-(b), (iii)-(d), (iv)-(a)
©  ()-b), (D)-(d), Giid)-(c), (v)-(a) D) ()-(a), ()-(b), (iD)-(d), (v)-©)

8 BYNS arox 393wy PMKSY adeeaSad mesvgenvx) dadoeN &3A03eS?

@

(i)

(111)
@iv)

PMKSY ob 203003 3838 08 2024-25 Se Todrt ode zud) 3uebeddny’ Josl
VBT B3eB, J033 aFOTF

8 aleeaSaly HBDBmN BT Fretd AeveO 0deedSNert J) BRYRY wBNDIYTTS e
3e08),e3033.

8 0deed oY WSy 1, 2015 Bowd &9 BoNTITAD.

8 030ed1t Beol) VBE TR FoBpeEeN BEITD, NLBDST.

@A) @) DD (iii) ST, B) (>() DB (iv) e,

©) (), (111) DR [(v) e, D)  SedI 2w (i), (i), (iii) B (iv)

DT (A) : BT TBBAY VT B0 VOV J09IO Doded WF3edt T3 5.2% ToQIT D)

FY 23 88 14.3% 2t d)’at)éddga?od)@( TRODT.

zo36 (R) : BREE JDeFoh  BTeT, VBTN A  Jed3ead 3;@36& IOl

F0deBNOB), WD NRDVOBETT  HODIT DX  [OTF,  [OBBFMVRY
ReUTS.

@A) (A 3R (R) oS@e 30 @A (R) (A) = DG IBTBNS.

(B) (A) A (R) 95%» 5B, 8TT (R) (A) § IOWT ASTHDY.

©) (A) <D, 83T (R) 3,

D) (A) 3B, 83T (R) <D,
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8.

10.

11.

Match the following public sector undertakings with their respective category:

Column A Column B
(1) Indian Oil Corporation Limited (a) Navaratna
(1) Shipping Corporation of India (b) Miniratna I CPSES
Limited
(111) Airports Authority of India (¢) Miniratna II CPSES
(iv) National Film Development (d) Maharatna

Corporation Limited

A)  ®-(d), ()-(a), (i11)-(b), (v)-(c)
B)  @-(d), ()-(b), (ii1)-(a), (v)-(c)
©  ®-(b), ()-(d), (ii1)-(a), (v)-(c)
D) ®-(a), ()-(d), (111)-(b), (v)-(c)

Which state ranks highest in renewable energy capacity in India?
(A) Rajasthan (B) Gujarat
(C) Tamil Nadu (D) Karnataka

In which year was the Competition Commission of India (CCI) established to regulate and
promote fair competition in Indian markets?

A) 1991 (B) 2002
(C) 2003 (D) 2009

Which of the following was the key feature of the Bharatmala Pariyojana launched in 2017
under the Ministry of Road Transport and Highways (MORTH)?

(A) Focus on the construction of Rural roads to connect remote villages with major
highways

(B) Development of a comprehensive 34,800 km network of economic corridors and
multi modal logistics parks

(C) Expansion of port infrastructure and waterways for the transportation of goods

(D) Investment in the development of Rural airstrips to promote regional connectivity
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11.

8 BYNS 0oBFRAB ST BoFYRY, WYY Snedeodrt Bood:

ST O RIS A
) @080~ sder sekperdeds ODUE (a) ISTI
(i) 33 or socdperdea™ 8e Q0B (b) AT I ddaxreRT®
ODe3F
(i)  27983ead ATV e TYRFT © AT I ddacFRd
(iv) Tad) ead 230R3T) 9T AN (d) Swec3,
ODEIF

A)  @-(d), 1)-(a), (111)-(b), (iv)-(c)
B)  ®-(d), (1)-(b), (ii1)-(a), (v)-(c)
©)  ©)-(0), (i)-(d), (iD)-(a), (v)-(c)
D) ®-(a), (1)-(d), (11)-(b), (iv)-(c)
2ROBBO DDWYE ROBR TIDEFBO WS 038,F) BT 3 TRBOT?

(A) oaasm@ﬁ B) nRTE
(C) B (D) Boeresd

o03ead  FPWIENYY Dy0balnd  IFFobR, JdabodTen DR

S or e30deenaRY (9D) AS SRETY TdTIIB?
A) 1991 (B) 2002
(C) 2003 (D) 2009
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PUBLRTE) 033

O3 @0t ) B0 Tedmewad (DoesTiEdary) ©BabY 2017 B ©yToNTUT JeTSF o9

2003eRT TyIw OFE oY ?

(A) Be08 MyRIOD, BB BN oD SomdrTen Mydesn BINY davorennd e

NRSBODIHD

(B) 03 520ma0 MY T 34,800 3.Qve. Wow) DB VI SToBO BT TeBENY DA

(C) RoBRY TensmeN WoBD BWPVTIBALE DA BOBJNeNY JJTEH

[

D) =9Ted8 JoBBFSY, LLILBIL Me;cheed DAY T DAY BRBS
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12.

13.

14.

What is the primary reason for the Ministry of Environment, Forests (MOEF) issuing

notifications on ash Utilization?
(1) To increase the production of coal and lignite in the country

(i1) To reduce the requirements of land for ash disposal and address pollution caused by

ash

(i11) To promote the use of imported coal with lower ash content
(A) only (11) and (iii) (B) only @i1)
(C) only (1) and (11) (D) All of the above ((i), (i1), (ii1) and (iv))

According to Census of India 1911 and 2011, which of the following statements(s) is/are
correct? Select the correct answer from the options given below :
Statement I :  The total number of population of India was 25,20,93,390 in 1911.
Statement II : India’s population has rapidly increased to 1,21,08,54,977 in 2011.
Options :
(A) Both statements I and IT are correct

(B) Both statements I and IT are not correct
(C) Statement I is correct, but statement II is incorrect

(D) Statement I is incorrect, but statement II is correct

Consider the following the details as Per Periodic labour Force Survey Report 2023 — 24.
(1) The unemployment rate for individual aged 15 years and above was 3.2% in 2023 — 24.

(i1) The urban unemployment rate for people aged 15 years and above was 6.4% in
Q2 FY 25.

(i11)) The worker-to-population ratio (WPR) has decreased between 2017—18 and 2023 — 24.

Which of the above statements(s) is/are correct? Select the correct answer from the options

given below :
(A) (1) and (i11) only (B) (@) and (i1) only
(C) (1) and (ii1) only D) (@), (11) and (ii1)
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SO0, 536, Resevadh (MOEF) e1od w38k 3103 0pReusnva Be0amt HaBds sedndemy?
() T33O BOGBe D) Ort & EuE BIADRY, BTN
() 200 JJee0rt Podah BB IBRYRY 3B BB HI) BT HVOLNHE FPORF),
SOBOTLY
(i) BB wed BOBIDT BT BHBT BOFOS WYBRY EUeSTY
@A) (i) ) (iii) @3 B (i) 393,
© (i) 2 (ii) 393, D) e oo (i), (i), (i) DR (iv)

1911 &) 2011 T 23033 »3neadadh BB, B YN arexd BeYINW VOANS? B dederod
Sloiatelaiielenplagiiicioi S IolNE

Be93 1: 1911 39 259033 20e3), BIT08d; 25,20,93,390 &N

®e93 11 : 2011 39 2390383 wISoad0dn Serievon 1,21,08,54,977 3, o033

308, -

A) I3 II odde BeP3nx SOwrNS
(B) I3 II oBRe TeRBrwd JOATeNY

(C) =93 I IOWNG, 833 Ted3 11 S NS
(D) =93 I 3N, 83T e 11 IOeNT

BIBEB FoDES O JDeg STH 2023-24 T FFeT 8 FYNT ITTNYSY @0red.

1) 15 3R D) ¥B3,03 TS SoDYI SBnOrt Adcieen B3P 2023-24 3Y 3.2% SN,

(i) 15 3R DB 83,03 BUS SoHR VIO AT Ahdeen 30D Q2 FY 2025 3 6.4% &SNI.
(i) 2017-18 =) 2023-24 3 SBDS FoDEE-wITVosd; vDwmed (WPR) 38adyeNds.

ed BePINPY oI FONG? B¥rt BB Bod),iPos FOWT HVSTSIY ol 7o

@) (i) D (iii) res) B) (@) ) (i) os)
© () R (i) 23, D) (@), (i) D (i)
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15.

16.

UNDP-HDR 2023 — 24 indicated that the following findings. Which of the finding(s) is/are

correct? Select the correct answer from the options given below :

@

(i1)
(iii)

The value of HDI of India was 0.644 in 2022 and stood at 134 rank among 193 countries

in the world.

The value of India’s Gender Development Index was 0.852 in 2022.
The life expectancy at birth was 67.7 years in 2022.

(A) (@) and (i1) only (B) (1) and (iii) only

(C) () and (iii) only D) @), (1) and (i1)

Match list I with list IT relating to deficit statistics of 2023 — 24 and select the correct answer

from the options given below :

(@)

(i1)

(111)

(iv)

List I List IT
Fiscal deficit (a) 2.0
Revenue deficit (b) 2.6
Primary deficit (¢) 5.6
Effective revenue deficit (d) 1.6

A ®-(d), ()-(¢), (111)-(b), (iv)-(a)
B)  ®-(0), (i)-(), (ii1)-(a), (v)-(d)
©  @-b), ()-(a), (i1)-(c), (iv)-(d)
D) ®-@), (W-(d), ()-(c), (v)-(b)

-10-
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UNDP-HDR 2023-24 8 3¥NI SozdpedInyx, SeBdh3d. J0ZeedSnvdd aregddd S0adreNds?

B3I QBB 80d),P0T FOWB VSTSY, 0y, &b -

@)
(i1)
(111)

272038 HDI 3P0, 2022 8O 0.644 shm) B3) 93,3 193 Bedrvd) 134 S mynsa0.
2022 B 430336 Oort ©DE,Y eed,088 B¢ 0.852 SN,

2022 39 BIIT ST BeABTO 67.7 IREMLD.
@A) () DR (i) I3 B) (i) @ (iii) e,

©) O = (1) 393, D) @, (i) DI (iid)

2023-24 O 3p03ah ©03e03nert FowodAT Bt I o, Sed 1T Jeodrt Beodd SR ¥ Jedwed

©a,NPos JOWed LLITSBIY, 8O :

()

(i1)

(iii)

(iv)

@3 1 a3 11
BETIAN BRT3 (a 2.0
305003 BRT3 b) 2.6
TBDB 303 (c) 5.6
BOFB0 esmoad B3T3 d 1.6

A)  ®-(d), ()-(0), (111)-(b), (iv)-(a)
B)  ®-(0), (1)-(b), (i1)-(a), (v)-(d)
©)  ®-(b), (i)-(a), (i11)-(c), (v)-(d)
D) ®-(a), ()-(d), (i11)-(c), @v)-(b)

-11-
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17.

18.

Which of the following statements(s) is/are correct about GST council of India? Select the

correct answer from the options given below :

(i) The Union cabinet approved setting up of the GST council and 14t September 2016.
(11) The Union finance minister is the Chairman of GST council of India.

(111) The first meeting of the GST council was held on 30t September 2016.

(A) Both (i) and (iii)
(B) (@ only
(C) (@i) only

D) (), (ii) and (iii)

The Economic Survey 2024 — 25 released the following status of India’s external sector. Select

the correct answer from the options given below :

(1) India’s total exports (merchandise + services) were USD 602.6 billion in the first nine

months of FY 25.
(11) India’s total imports during April to December 2024 reached USD 682.2 billion.
(i11)) The gross FDI inflows increased from USD 47.2 billion in first eight months of FY 24 to

USD 55.6 billion in the same period of FY 25.
(A) () only

(B) (i) only

(C) Both (i) and (i1)

D) @, (1) and (i1)

-12-
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o030 GST hodeah wri 8 YN alrexs BRI JIDAeNS? B ederod e308),P0d IO
PUBTBY, 308y, &b :

H  SB000° 14, 2016 Somd 3e0B) VS FoRe3Y GST DoBPD T DBRETS JedD.

(i) BeoB) BEIBIRD VISP 23903B GST SoBLVD FZD.

@(ii) GST Shodeah Fedw I Ja,0w0° 30, 2016 Towd IBFALBD.

A) (i) D (iii) oSG
B) () 93,
(©) (i) 93,

D) @, (i) DI (i)

2024-25 O ©BF3 Icegaly 2390388 wex; ST A3, B Z¥NITod DBDNE B3, Bt

Qedered 8ol Pod J0red SBT3, al, el :

1) 2025 Je BB [RB IPTL w0B) oMY 0BT WD), TFPNW (JITD + JFeSnD)
602.6 DO WBVOTF BoOTIFINGD).

(i) 2024 T oHYefdod BJows® TIDOLY PeTBT  wed), BDRW  682.2  DODLF
WO’ BT NYRY, SVITD).

(i) 2024 JTe BB [RT BIPTO 0D BoMFY wED, IFBRD wIBOFY 47.2 VODIF
QT FLOTIR0TW 2025 Fe BT IReT e THADY 55.6 VO WBVOT® BTNV
o0.

A) () 3
B) (i) 3,
©) @) DD (11) B3R

D) @), (1) DI (111)

-13-
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19.

20.

21.

Consider the following statements according to Economic Survey 2024 — 25. Select the correct

answer from the options given below :

(1) India’s current account deficit was 1.2% of GDP in Q2 of FY 25.

(i1) India’s current account deficit was 1.3% of GDP in Q2 of FY 24.

(111) India’s merchandise trade deficit USD 95.3 billion in Q2 of FY 25.

A4)

©

(1) only (B) (1) only

Both (i) and (ii) M) (), (i) and (i)

Kerala’s economic performance in 2023-24 was marked by robust growth across all sectors.

Which of the following statements correctly represents the changes in sectoral growth from

2022-23 to 2023-24?

(A)

B)

(©
D)

The primary sector growth increased from 0.9% to 4.7%, while the secondary

sector grew from 3.2% to 4.1%

The tertiary sector recorded a lower growth of 6.5% in 2023-24 compared to 7.0%
in 2022-23

The secondary sector growth remained constant at 3.2% in both years

The primary sector showed a negative growth in 2023-24 due to lower agricultural

output

Which of the following is a key characteristic of Kerala’s second phase of decentralisation?

(A)
B)
©
D)

Reduction in public participation
Increased political and administrative support
Focus on infrastructure projects only

Centralized decision-making

-14-
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2024-25 T 803 Jegah B0 8 3PN BePBNYRY, BOMedd. ¥ Qedewed sad,nvod Sdayed
PUSTBY, 308y, o8 :

@)
(i1)
(iii)

20253 B9z TRET Q2 IO 70033 e 303 B33l GDP ob 1.2% &N,
2024e BT IRFT Q2 IO o033 e300 79I EpT30dw GDP ab 1.3% &N,
20253 @650 SRET Q2 IO 2033 ITB D990 8ed3 USD 95.3 DOobR* sh).

A) 1) @3 B) (i) 03,

©C) () DB (ii) dTAEe D) @), (1) D (iii)

2023-24 09 3e3¥3 803 Fo0DEZDIAW DY SVONPY wOTT WLPTeIridoT MHTHSTY 3. B

BYNS aod BePBM%D 2022-23 Dod 2023-24 TSNS Svab LSO wBUISHNATIY FOaeN

G AL v

(A) TBYE FohT LBYSIrian 0.9% BoB 4.7% 3, ©OTT, BIead JVWF 3.2% Bod
4.1% 8, 0

(B) 3)3ead Jvahd 202223 0O 7.0% 3, TwedITT 2023-24 TO 6.5% TRy, BD
VB TAOIT

(€) B3ead BoHT B¥Seriodn 20RR BRFAVO 3.2% I LBTNR)

D) Bd VBB BBDIIT 90H FHBDB SOV 2023-24 TO SEI0I3,B LBYSeSTODRY
H0eBAT

Be0Y3 Q0BRE BOBTW IBe0R,LSTET BBV ©FEI Ao ?

A) TBFRAB PoNSHRAZADO 293

(B) @43 oondeah @) 839BIE,S woww)

(€) @worPsabe oleeasny e Fe3, NDHIBORDDD
(D) BeoBed)3 Apard SR A3

-15-
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22. The India Skills Report 2024 placed Kerala as the most preferred State for employable
talent. Which of the following is a key factor contributing to this ranking?

(A) Kerala’s high per capita GSDP and low Multidimensional Poverty Index (MPI)

(B) The State’s top ranking in SDG Goal 4 (Quality Education)

(C) Proactive policy reforms in the State Business Reforms Action Plan (SBRAP) 2022
(D) All of the above

23. Which of the following statements about Kerala’s cooperative sector is FALSE?

(A) Kerala has the highest number of women’s cooperative societies in India

(B) Youth Co-operative Societies were introduced in Kerala to promote
entrepreneurship

(C) Consumer cooperatives are the largest in number among all types of cooperatives

(D) Kerala has over 16,000 registered cooperative societies, but less than 50% are

active

24. Which two Sustainable Development Goals (SDGs) did Kerala top in the SDG India Index
2023-247?

(A) Goal 1 (No Poverty) and Goal 3 (Good Health and Well-being)

(B) Goal 2 (Zero Hunger) and Goal 4 (Quality Education)

(C) Goal 5 (Gender Equality) and Goal 7 (Affordable and Clean Energy)

(D) Goal 8 (Decent Work and Economic Growth) and Goal 10 (Reduced Inequalities)

25. Kerala’s first IT corridor is located along which highway?

(A) NH 66 (B) NH 44
(C) NH 47 (D) NH 17

26. The Kerala Land Reforms Act, 1963, aimed primarily to:

(A) Promote large-scale commercial agriculture
(B) Abolish tenancy and provide land ownership to tenants
(C) Increase landholdings of landlords

(D) Allow privatization of forest lands
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23903 53250?5 3ICD 2024 8ed°édd3( emdraéem&k B3IROrt @), esdzséocb oms?sﬁod) 20IT. B8
Z)e0i100383, BRI ALDT ST 903 W3roIHD?
(A) BeB¥Yd BS S GSDP b3 38D wmesadreahd w333 deed03 (MPI)
(B) SDG 0 4 (rheaehe3d d3ea) BY TR @ o) Fyeodyeod
(C) oo dédmd DPeTme &odye AdeeasS (SBRAP) 2022 30 gpreiec) ded RGTTHNW
D)  DedI d0Fp

3e0VG $BE0 FeIB wrf S BUAR 0393 BeLSRW SmYNG?
(A)  2I0BTO 3eTVR) e Bed), DbVo TBEO FoPNYRY, BB
(B) B BeoBab) euZeSTL BTVRY cnd BBEC oY), SOEMRRM
(€) ouy dedodh FBED BOFMVY) MBS FBEIT VO Boa,00e) B3¢ B
(D) Be¥R) 16,000 Bn, Bed, Foeomadhd IBZO BoBMYR) FODT, SBT 50% &,03 3BD
B3 0hTNS

2023-24 8 SDG 2908 Rewd0830 Be0v¥a) s b YT WPBY rHORYRY (SDG i)
O TIRBODI?

@) 10 1 (B33 23) DI) 1 3 (V3D edeer, HI) oleeriged)

(B) 10O 2 (303, BID) DB 1D 4 (Pesed 330)

(€) 0B 5 (Hor FSRS) @y 1O 7 (B endS D) B FOTR)

D) 10O 8 (cheer; 30T HB) SHFS BYSe3rT) DI 1O 10 (BBHART BRITISSHD)

BeBPT IRBe) LI ZOTT* Ao émoaoi)egd?

(A) NHe66 (B) NH 44
(C) NH 47 (D) NH 17

3e0Y e DPeTme Soad), 1963, oBdwaN @d)ﬁ%ﬁ@( ONDIBR0RT:
(A)  Beg Bed @oedty; BADRY eVBeBdDRTD
(B) 8rweddn e SredesE8 SR BN
(C) Ypedes3 e LRDTY BRI
(D)  3ey eeDab) woNeBTEN L ITLL ORDDSDHIHTD
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27. Match the following social security schemes in Kerala with their respective beneficiary

groups

Social security scheme Beneficiary group
(1) Karunya Health Scheme (a) Non-resident Keralites (NRKs)
(i1) Pravasi Welfare Fund (b) Critical illness patients
(111) Kisan Abhiman Scheme (¢) Elderly agricultural workers
(iv) Kerala Agricultural Workers (d) Small and marginal farmers

Pension Scheme

A)  @-(b), ()-(a), (i1)-(d), (iv)-(c) B)  ®-(), ()-(d), (ii1)-(b), (iv)-(a)
©  @-(@), ()-(c), (i1)-(b), (iv)-(d) D) ®-(d), (1)-(b), (ii)-(a), (iv)-(c)

28. Which Kerala tourism initiative promotes responsible tourism practices?
(A) Kerala Travel Mart (B) Grand Kerala Shopping Festival

(C) Responsible Tourism Mission (D) Kerala Eco-Circuit Project

29. What is one of the key strategies of the 14t Five-Year Plan for higher education in Kerala?
(A) Reducing the number of universities to ensure quality
(B) Eliminating private sector participation in education
(C) Increasing enrolment and improving quality

(D) Replacing general education with technical education

30. What is the primary goal of the Aardram Mission?
(A) To privatise government healthcare
(B) To reduce the number of public hospitals
(C) To make government hospitals more people-friendly

(D) To increase the cost of healthcare services
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3e3Y3O 85 BYNT Tox o8 IB)To 0deedINYRY, BRFNT UL rHoFNwie odrt @eodd

TSR3 BB Zo 0deedS BB MHoR)
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(i) B 80368?) NIA) (b) noDed @md@eﬁé B3 BreAnd
(i) 30 DTyo’ 0deedI (c) B B)d BachESDH
(iv) Be3¥ B)d ST doeded 0deeRdsS (d) g D) w3e Iy B3
A)  @-(b), (W-(a), (11)-(d), (iv)-(c) B)  ®)-(0), ()-(d), (11)-(b), (iv)-(a)

©

(1)-(a), (1)-(c), (1i))-(b), (iv)-(d) D) ®-(d), ()-(b), (ii)-(a), (v)-(c)

2592003 Bweieer @) SPINYD, LVBLRW BeTY Tmoriper e HVBT T AIYWD?

4)
©

BeTY 39T Syetde (B) m_)éocf 3e0Y Badort B,3ef
09,0200 2000 LI (D) BedY aﬁ@e—ﬁ‘&a{sm‘ deeds

Be3Y3O eI B dZeze,N 14 Je Bowdeoded adedSad Bwe SoFNTY womd Wre)wh?

(A)
B)
©
D)

RS, IBZBIZAYL IB,IT,0RY Bos00Ry, BB TR
38600 2R FVAIT WINSHLHIZNR), SHDTIBDIT

TRRUIGDRY BERIDRD DB MRDETRY, DFODIRD

IR, BFHBRY T2083 BZRTR BN BTNV

STFSF DB TYBDE DO Hb?

(A)
B)
©
D)

TS0 eso’.raeﬁas m—’eﬁoi)dg( 093NeBTEINR DD
DoTERNB BIYZNY Joadob BB SrewId
T5rD BTV BN Bed), I Ld0hTYN SeDIHTD
esdper) FeSny SIS, BRI
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31. Which of the following is NOT a factor contributing to Kerala’s increasing drought frequency?
(A) Land-use changes (B) Industrialization
(C) Climate change (D) Hydrological system degradation

32. Which of the following statements best defines the nature and scope of Science and
Technology?

(A) Science is solely about theoretical research while technology is limited to
manufacturing processes

(B) Science involves systematic inquiry to understand natural phenomena, while
technology applies this knowledge for practical benefits

(C) Science and technology are unrelated fields that do not impact everyday life

(D) Technology is the art of invention with no reliance on scientific principles

33. What is a primary objective of national policies on Science and Technology and innovations?
(A) To focus solely on scientific exploration without practical application
(B) To eliminate technology from the education system
(C) To promote research, innovation and sustainable development across the nation

(D) To restrict technological development in order to preserve traditional practices

34. Who is popularly known as the “Missile Man of India” for his significant contributions to
defense technology and innovation?

(A) Dr. A.P.J. Abdul Kalam (B) Dr. Homi J. Bhabha
(C) Dr.C.V. Raman (D) Dr. Vikram Sarabhai

35. Which government initiative is primarily aimed at promoting the use of ICT?
(A) Digital India (B) Make in India
(C) Skill India (D) Swachh Bharat Abhiyan

36. Netiquette refers to:

(A) A new computer virus

(B) A type of internet hardware

(C) An outdated communication protocol

(D) The set of guidelines for respectful and ethical behavior when communicating
online
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BeCVRY) Bed, AT WOML BTIFRF, S FYNIYNVO BT 0IT?

A)
©

BR-0¥30D DTIITHNAR (B) 3;med3e8Tea
CIAPTAVPINEA A[SPTan D) 20 SBJob VSIS

GO D) B0BRFoSB J,dD &) AN, B B¥NS 03703 TePBNW LVBDDN T WYADIS?

4)

B)

©
D)

AgeSY Bedv Jwgod8 JoFReFIodh wri 8BT SoZPeSD) VBB B;30bnert
Qe DBIN3

AIRY) FyBNES ABRIINTRY, wBrBBRY L SBIB NFoTHADIY w¥riRoBDHIT,
83T S0BFoSD) B LoITY, ©9,080eNS 0deedSneMN BF,DIT

AR DB BoBR2eRR) B;R00 LeSIF e BO@ DedT FooFIVT ZedriwoNs
B03eRR) S8 BN e adreFcde BTL0IMOT 8eEs, 08 BTN

o™ BB BoBR D) MBIV 10T Tad eab eIV HYBYS eugeBed?

A)
B)
©
D)

5,040eN8 I ;08 BOZRFab ahed B, RDIBOVID
230 SBIWOT B0IZRIRBR), PBRHTDR

008, 50,038 FoAReRT, ToeTT B3y WA ©DB)PLR), VBRI
208008 BRSNVRY, FoCIBL B2033 LR BNRY, AFORV)

Ogme B035ex3 DB JRIBAIT BB DBSE BR@NFneN 2038 FTed D" d0mD
230N 3THY) BDSTD Adyedh?

A4)
©

. 0..25. erYef B0 B) @o. e 3. 9o
3. A.Q. To® D) @o. IBIF ToTeIAl*

DAL WHBARY, VSRS MHODRY TR OBDL BFFTT VBB AeYHD?

A)
©)

8230 08030 B) ezt ax® OB
Q,&° Q0Baye D) @eg 2903 9o

S8 BRY, CVIeDVTT:

(A)
B)

©
D)

BRI 30@%&30‘ dédd—f
2000 0eB0d Roe3Jee3’ BT EPeT®

BYBT VOTBS R)eedeeSoer
BRSSO J0TBS SBDDeN MPTTeR3 D) 3,38 IBSVBMeN Sericeednd Je
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37.

38.

39.

40.

41.

42,

Which of the following best describes the benefits of Artificial Intelligence and Robotics?
(A) They primarily lead to increased operational costs and complete job replacement

(B) They enhance automation, increase efficiency, and improve precision across

various sectors
(C) They are only applicable in academic research

(D) They have minimal impact on industrial productivity

What role does ICT play in governance?
(A) It complicates government operations
(B) It is only used for internal communications
(C) It streamlines administration and improves service delivery to citizens

(D) It replaces all traditional governance methods

Which of the following is NOT part of astronaut training for Gaganyaan?
(A) Centrifuge training (B) High-G acceleration tests

(C) Nuclear radiation shielding tests (D) Underwater simulations

Which of the following is NOT a challenge in developing Reusable Launch Vehicles (RLV)?
(A) High thermal resistance during re-entry
(B) Low-cost fuel availability
(C) Precision landing technology
(D) High-speed aerodynamic control

Which 1s India’s first experimental satellite launch vehicle, capable of placing 40 kg class
payloads in Low Earth Orbit (LEO)?

(A ASLV (B) PSLV
(C) SLV-3 (D) GSLV-MK3

Which is the world’s largest solar park?
(A) Bhadia Solar Park in Rajasthan
(B) Pavgada Solar Park in Karnataka
(C) Kurnool ultra mega solar park in Andhra Pradesh
(D) Rewa Ultra Mega Solar Park in Madhya Pradesh
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3)33 WHDZ DB el S &deedSNYRY, 88 PNIIYNYY arehmd sudadeyen ISODIT?
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DHdHSS
C) o T,;8638 JodpedSab) ed) DS
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DDHYE FTeBVBTT HVBISEHY DOBINTRY, (BT QL) WFRBBDSY B BPNIINYY aireyed
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Q) DDBFe3B SDDTO B Vg B 3Beed

(B) 3BD-TYT woBS 03

(C)  Qadmed vaolon’ SoZses

D) By~ er ToNWVLT ;253 JoHOZ)Ed

0388 BT ©9,0deeN3 YUTYE GLEIDH DB WD), VD 40 32 INeT ﬁedraea‘rﬁ%’dg(
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(A) ASLV (B) PSLV

(C) SLV-3 (D) GSLV-MK3
Q33 3e Bpg JI2T o5t roYch?
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(B) 3Re33T) oM Ripeesod’ oS

(C) 07, ITe33Q Seref ey, e Jperal’ TTE
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43. Which is the largest nuclear power station in India?

4)
B)
©)
D)

Kudankulam Nuclear Power Plant
Tarapur atomic power station
Kakrapar Atomic Power Station

Kaiga Atomic Power Station

44. 'This is not an objective of National Green Hydrogen Mission

A4)

B)

©

D)

to make India the Global Hub for production, usage and export of Green Hydrogen

and its derivatives

to become competitive with fossil-fuel based alternatives in refinery and fertilizer

sector

to become self-reliant through clean energy and serve as an inspiration for the

global Clean Energy Transition

to promote hydrogen weapons over other nuclear weapons

45. Which are the sources for Selenium contamination in India among the following?

(1) Industrial sources

(i1) Agricultural Practices

(i11) Ground water

(A)
©)

Only (i) and (ii) (B) Only (iii)
Only (ii) and (i) (D) All the above ((i), (i) and (iii))

46. The alternatives for ozone-depleting substances have caused for

(1)  Production of ozone in the atmosphere

(11) Increase in Greenhouse effect

(i11) Increase in the production of compounds with high global warming potential

Which of the statement(s) given above is correct?

4)
©

Only (ii) and (jii) (B) Only (iii)
Only (i) and (ii) (D) All the above ((i), (ii) and (iii))
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>111) ©oBREFW

(A)
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©
D)
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HedS a0 (i), (i) D (i)
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(i) BRADDT BOHDT) B2 ¥
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et AeBUd BePINYY oD BOWTNT?

A)
B)

©)
D)
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(iii) 53,

() D (i) @3

O 003 (1), (i) ) (iii)
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47.

48.

49.

50.

Which are the major objectives of Kyoto protocol?

(1) to achieve stabilisation in Greenhouse gas concentration
(i1) to control persistent organic pollutants

(i11) to reduce ozone depletion

(1v) to ensure that food production is not threatened

(A)  Only (i11) and (iv) (B) Only (1) and (@v)
(C) Only (@) and (i1) (D) Only (i1) and (iv)

Development projects can be started within 10km of a protected forest such as a sanctuary
and National Park.

(1) The statement is incorrect

(i1) Clearance from the National Board for Wildlife is required
(111) Permission from the State Forest Department is required

(iv) Permission from the State Forest Department is not required

Which of the statement(s) given above is correct?
(A) Only (v) and (111) (B) Only (11) and (i11)
(C) Only ) (D) Only (@)

“Eco-Sensitive Zones (‘(ESZ’)” are

(1) the areas notified under Environment (Protection) Act, 1986 around National Parks
and sanctuaries, etc

(i1) the areas notified under Wild Life (Protection) Act, 1972 around National Parks and
sanctuaries, etc

(i11)) the areas notified under Forest (conservation) Act, 1980 around National Parks and
sanctuaries, etc

Which of the statement(s) given above is correct?
(A) Only (i1) and (iii) (B) Only @)
(C) Only @) (D) Only (@i11)

Which statement(s) on Carbon offset is correct?

(1) Carbon offsets are credits for reductions in green house emissions

(11) Carbon offsets are tradable unused quota of GHG emissions permitted to the countries
(i11) Carbon offsets are quantified and sold in metric tons of carbon dioxide equivalent

(iv) Carbon offsets are total emissions of GHGs over a period of time by an individual

(A)  Only (1) and (ii1) (B) Only (11) and (iv)
(C) Only (@) and (1) (D) Only (11) and (1i1)
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Bneedne R eednesotf J BT BVGEBTW we)D)?

)  BIDDT 8L T0FZDY AOeBTEB, TIRDIHD
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51. Choose an appropriate synonym for the underlined word and mark your answer in the

response sheet.

The young lawyer spoke with deference to the judge, acknowledging her years of experience

and wisdom.
(A) Disrespectful attitude
(B) Humble submission and respect
(C) Indifference or lack of concern

(D) Aggressive opposition

52. Complete the sentence using the present perfect tense form and mark your answer in the

response sheet.

They each other since their childhood.
(A) knew (B) have known
(C) knowing (D) find

53. Choose appropriate connectives and mark your answer in the response sheet.

the opportunity arises, seize it without hesitating fearing

you might fail.
(A) Whoever/and/that (B) Whichever/or/what
(C) Wherever/or/which (D) Whenever/or/that

54. Convert the sentence into complex sentence and mark your answer in the response sheet.
He was indifferent and they punished him.
(A) They punished him for his indifference.
(B) He was punished for his indifference.
(C) As he was indifferent they punished him.

(D) His indifference made them punish him.
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Complete the sentence using a suitable preposition and mark your answer in the response

sheet.

I filled the tank, but unfortunately I filled it the wrong kind of fuel.
(A) in (B) on
(C) with (D) by

Choose an appropriate phrasal verb and mark your answer in the response sheet.

They were walking too fast, I could not with them.
(A) move B) keep up
(C) walk (D) follow

Fill in with appropriate pronouns and mark your answer in the response sheet.
Its an interesting book I have read this a long ago, it is not mine, it is

(A) hers (B) their

(C) ours (D) dJohn’s

Rewrite the sentence using correct punctuation and mark your answer in the response sheet.

Even though it was late almost midnight she continued reading her book unable to put it

down knowing that she would regret staying up so late.

(A) Even though it was late, almost midnight — she continued reading her book

unable to put it down, knowing that she would regret staying up so late.

(B) Even though it was late almost midnight — she continued reading her book,
unable to put it down, knowing that she would regret staying up so late when her

alarm rang at 6 a.m.

(C) Even though it was late — almost midnight — she continued reading her book,

unable to put it down, knowing that she would regret staying up so late.

(D) Even though it was late : almost midnight, she continued reading her book unable

to put it down, knowing that she would regret staying up so late.
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59.

60.

61.

62.

Correct the error if any in the given sentence and mark your answer in the response sheet.

The sceneries are beautiful.
(A) The sceneries were beautiful.
(B) The sceneries was beautiful.
(C) The scenery is beautiful.

(D) No errors

Complete the sentence using the correct verb form and mark your answer in the response

sheet.
The life span of certain species very short.
(A) were B) is
(C) are (D) have been

Add a suitable question tag and mark your answer in the response sheet.
We used to study together.
(A) Did we? (B) Had we?

(C) Didn’t we? (D) Shall we?

Insert the most suitable adverb of cause and mark your answer in the response sheet.

He was late for the meeting, he missed the initial proceedings of the event.
(A) consequently (B) gradually
(C) slowly (D) abruptly
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Use the adjective provided in the bracket in appropriate position and mark your answer in

the response sheet.

She found books to be her only source of happiness (rare).
(A) She rarely found books to be her only source of happiness.
(B) She found books rarely to be her only source of happiness.
(C) She found rare books to be her only source of happiness.

(D) She found books to be rarely her only source of happiness.

Choose the correct active voice and mark your answer in the response sheet.
The lesson was explained by the teacher clearly.

(A) The teacher is explaining the lesson clearly.

(B) The lesson has been explained clearly by the teacher.

(C) The teacher explained the lesson clearly.

(D) The lesson will be explained clearly by teacher.

Use the appropriate relative pronoun to complete the sentence and mark your answer in the

response sheet.

That is the girl we met yesterday.
(A)  who (B) whom
(C) that (D) which

Insert the correct tense forms and mark your answer in the response sheet.
When they realised I at them, they away.

(A) looked, was turning

(B) was looking, turned

(C) looking, were turning

(D) looked, turn
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67. Select an appropriate idiom and complete the sentence and mark your answer in the

response sheet.

She didn’t mean to , but she accidentally revealed the surprise party details.
(A) break the ice (B) spill the beans
(C) hit the road (D) cut the corners

68. Find the antonym for the underlined word and mark your answer in the response sheet.
They concealed the matter.
(A) denied (B) respected

(C) wunveiled (D) trusted

69. Choose the correct word order and mark your answer in the response sheet.
park/the/to/went/children/the/yesterday.
(A) The children went to the park yesterday.
(B) The children went Yesterday to the park.
(C) To the park the children went yesterday.

(D) To the park yesterday the children went.

70. Convert the reported speech and mark your answer in the response sheet.
She said, “I met him yesterday”.
(A) She said she met him yesterday.
(B) She said that she had met him the previous day.

(C) She said she has met him yesterday.

(D) She said that she met him the previous day.
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